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There is a ‘Cool-off time” of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself,
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1
Answer any four questions from 1 to 6. Each carries 1 score. @x1=4)
The relationship between inputs used and output produced :

(a) Revenue function (b) Cost function

(c) Production function (d) Demand function

Steel sheets used for making automobiles is an example of :
(a) Consumer durables (b) Final goods
(c) Consuniption goods (d) Intermediate goods
Hsslive.in
| J.M. Keynes is associated with*ww-hsslive.in
(a) Macro Economics | (b) Welfare Economics

(c) Environmental Economics (d) Behavioural Economics

The difference between a firm’s Total Revenue and its Total Cost :
(a) Average product (b) Profit

(c) Average cost (d) Average variable cost

The rate at which one currency is exchanged for another currency :

(a) Rate of interest (b) Rate of unemployment

(c) Rate of inflation (d) Rate of exchange
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PART -1

A. 1 )o@ 6 Ao GansyEnglel BEO®BIL]. 4 A FRATIM 2OMOODLI®) .

1 capod afl@o. @x1=4)
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6. The change in Total utility due to consumption of one additional unit of commodity.

(a) Average utility (b) Marginal utility
(¢) Total utility (d) Marginal Rate of substitution
B. Answer all questions from 7 to 10. Each carries 1 score. @x1=4)

7. GDP (Gross Domestic Product) + NFIA (Net Faction Income from Abroad) =7?
(a) Gross National Product (GNP) (b) Depreciation

(¢) Net Indirect Taxes (d) Net National Product (NNP)

8.  Price Elasticity of a Unitary Elastic Demand curve .

(a) ed=1 (b) ed=0 |
(c) ed>1 (d) ed<l
Hsslive.in
9.  The number of sellers in an oligopoly market W
(a) Very large (b) Large
(c) Few (d) One

10. Which of the following will be determined at the point where the labour supply curve

and labour demand curve intersect ?
(a) Rent (b) Wage rate

(¢) Rate of interest (d) Profit
ME-535 4
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11,

12.

13.

14,

15.

16.

17.

18.

PART - 11
Answer any three questions from 11 to 15. Each carries 2 scores. B3x2=06)

Elucidate normal goods with example.
Identify the following concepts :
(a) Thetime period where at least one of the factors of production is fixed.

(b) The time period where all the factors of production can be varied.

Define the following :

(a) Investment " Hsslive.in

(b) Depreciation sslive.in

Distinguish between Excess demand and Excess supply.
What do you mean by Marginal Propensity to Consume (MPC) ?

Answer any two questions from 16 to 18. Each carries 2 scores. 2x2=4)

List any two motives for which people desire to hold money balance.
Identify four sectors of the economy from macro-economic point of view.

Mention any two factors determining the supply curve of a firm.
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PART -1I
A, 11 a3 15 e canaienglad agomasslens 3 afgRamim’ 2OmOOAYI®)d:.
2 capod alle.. Bx2=6)

11, avoworsm aiqpeedd (normal goods) ad)aaN BoaNEEM TLAGI®e AU IBNAIAN)H.

12. 230165 MABSHIW @)W @Ela 0lw)s: :
(a) apeMBEN B0 DEOBMARISE:. Muleacw] Mladanam SRl

(b) aQE DEIOBM ~LISHENE BOQATM AlEWRBIANI B0LISA.
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(a) mleaMale
Hsslive i,

(b) cm@OMO \
Www.hsslive.in

14,  @nal® (1BoMoe @RI Ga1BMe ag)ila GBGIEIeg|9)®)8:.
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18, 80} 2gosm @Migden EIRIMAU@OeD MIdIMElsaMm  omE  eeISERU3
V) flaflae)e.
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A. Answer any three questions from 19 to 23, Each carries 4 scores.

PART ~ 1l

3x4=12)

19.  Explain any two central problems of an economy regarding the allocation of resources.

20. The table shows the price and quantity of a commodity sold in a monopoly.

Price | Quality | TR AR
10 1
8 2 Eslive‘ in
6 3 WWwihsslive iy, \
4 4 '”
2 5
(a)

Complete the table calculating the Total Revenue (TR) and Average Revenue

(AR).

(b) List any two features of a monopoly.

21. Explain the functions of money.

22.  With the help of a diagram analyse the ‘Law of variable proportions’.

23. Explain the components of Aggregate Demand (AD).
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PART - 111

19 aymad 23 aeo Ga103ysmglal agomslen. 3 YFRADND DONOHA) ).

4 aapod alloo.. 3 x4=12)
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(a) HATMAUMDOIMe (TR) U@ UMM (AR) aymilay @emanoas gl
a0,

(b) @vewes ROOBIRI 0ME MVANEUDUDGHUB GBS )o).
alemanion wdemend aflvoB2069)s:.
WoWamieng rvanoweamons afleesomialom m@as alweeimo O2.1Q) .

Tl calosmae s (Aggregate Demand) ngissemcB NBEace)m.
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24.

25.

26.

Answer any one question from 24 to 25. Carries 4 scores. (1x4=4)

Match the following :

|

Eong Run Marginal Cost (LRMO) \\ Te/q

Cobb Douglas Production Function Passing through the minimum of LRAC

} . | "
Eong Run Average Cost (LRAC) Input Combinations giving same output

rlsoquant \ Long Run Production Function J

Explain any two reasons why GDP cannot be considered as an index of the welfare of

the people of a country.

PART -1V
Answer any three questions from 26 to 29. Each carries 6 scores. (3x6=18)

The diagram shows the relationship between Average Cost (AC) and Marginal Cost
(MC) curve : '

AC
MC MC

AC

Output "3‘3’5\:»& .
(i) Write short notes on
(a) Average Cost (AC)
(b) Marginal Cost MC)

(ii) With the help of above diagram identify any two relationships between Average
Cost (AC) and Marginal Cost MO).

ME-535 10



B. 24 m)®@3 25 100 Galosienglal agomaslene SOOROTIM 2TMOODLIT) B>

4 aapod. (1x4=4)
24, @al@onls] Gal@D) !
A B

dideeimer  EoE  ealeial sco ogjm mlal  EIBYAOSNIM

(LRAC) WEUNEMBIOS &)

ddecidoel  mizomm  eaeial | Te/q

(LRMC)

G6m WUIBOaY e oM Wdzdo dideeisoel NI Qe
(LRAC)omload  apQale  @3vaM
mim)aflenes &samealoran)

LGB (o (Isoquant) didnals0el 9eJIAM WAaRe

25. GDP 0} 00R00 SIMEBR)OS GHHA MV}aldn0w] aGemleooqlsomm@ieg oms

H00emenUd AlB2LN)BE.
PART -1V
A. 26 a)o@ 29 OO GalByEBEIC agomERlele 3 ADPROTIM TMOORE} )b
6 apod allmo. Bx6=18)

26. WEONA falelal’ A (AC) milaom ealeial’ aiE@alle (MC) mazlenss mimo
WRUNON@ &o6lafidlaniam;. :

AC .
MC mflaommealeial

MC .
LRINAINalLIC

AC

Hsslive.in
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oe|Mmo
(i) @Oloaje)O)s

(a) el ealeiai’ (AC)

) flacm ea1eiai (MC)

(i) ooglcd madslaidlenmm WRNTTHHR TLANIWETTNIOS WGl Haltelal
(AC) mfl@oam eateial (MC) agamias azlenss @enE enUWEMRUE GElaCl)e:.
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27.

28.

29,

B'

30.

31

32.

With the help of diagrams analyse- ‘Price Ceiling’ and ‘Price floor’.

Prepare notes on :
(a) Revenue receipts
(b) Revenue expenditure

HSSII'

Ve, in

¥y, hss]j‘,e_l.n
Explain the objectives of government budget.

Answer any two questions from 30 to 32. Each carries 6 scores. 2x6=12)
(i) What do you mean by Price Elasticity of Demand (PED) ?

(ii) Graphically explain the perfectly elastic and perfectly inelastic demand curves.

RBI publishes figures for four alternative measures of money supply.
(i)  Elucidate four measures of Money Supply in India.

(ii) Identify Narrow' Moné)‘? and Broad Money.

(i) Distinguish between open economy and closed economy.

(i) Product market is one of the linkages through which open economies establish

economic relation with rest of the World. Explain the other two linkages.
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27.

28.

29.

B.

WRUWEHG TLanoeamons ‘allel adlw)’ ‘@o afer’ apmlal alleeeime
210

B)0lo] Y008, :
(a) oaimy AIeAE:UD

(b) oMy ealeICN@GUd [1(’15‘/1':,6,'1.17

vaemeag snusgland eiesemud alvosacee).

30 y@ad 32 aleo ealsyEnglo BOOB el 2 af)IRATIM DODMEOA)®)d.
6 capod allo.. 2x6=12)

(1) caosmavie alle 0eIoqla® (PED) agiommedoeme” @RAMO2089) M@

ag)am ?

(i) andem gneomfle: aloamo andem eoQd 0atl® €al08Me  agamia
@oatloqd MaooLEEIRS Alldsa0seS.

alem (aIBdmolang 4 alalw ERe»E1eSs Bemee)@:wd RBI Indleflaalaemm).
() pomylees aem (IBOMATNOT 4 @RSAIG:UB QIBDOSN)D:.

(i)  aVBall® alemo (Narrow Money) aflwoel alemo (Broad Money) afamilal
®1@lajol)d.

(i)  @omm avausd (open economy) @RS qLAUA’ alyaiaun (closed economy)

o)l caiB@idles 9)m)w:.

(i) oo qvaus’ alyairuns?d @ealod ruomIETTle sniTwo qunoaflasmmmmim)es
630} 20GA0EY PBJMEMIOBo. B @6ne’ 20B3eRA3 alvdBR0Ee) b .
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PART -V
Answer any two questions from 33 to 35. Each carries 8 scores. (2x8=16)
33. (i) Mention the properties of Indifference curves.

(ii) Diagrammatically explain the optimal choice of consumer.

34. With the help of diagrams analyse the pfoﬁt maximisation conditions of a firm under

perfect competition in short run.

35. What do you mean by GDP ? Explain any two methods of calculating GDP.

Hsslive.in

www.hsslive.in
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PART -V

33 a)®ad 35 Ao calsyEnElad ago®Rele 2 na)i;mmzsﬂm' DOMOSDLL®) >

8 cmpod afloo. 2x8=16)
33, () 0ArLen®mO AUBEIOM (Indifference curves) ANERH®BRB TV)a Nl flee)d.

(i) WoablOag  ALANIVWETIONS falceoamoallond  @emM;MeIMo (optimal)

omOeEEMS)a| ANUOBBOSN)H.

34, (OMVIGOLIOD aldemn ACNLE HEMOSEIOEl B0} DEPCM wemiglm’ eleoe
A1020QII@ISNMEIMEBS 3 AUUITUOSUD WRUETORG  TVaNWEONINS
aflBRHN)H. Hggyjo . .

") )! SSIIVe'In

Wwy, thIiVe. in

45, ©a0om @Ry 9ejamoe (GDP) af)TN® OB06NE @RAMODEN)MD af)a® ? GDP

HEMNSNISOINDTIM)SB aBO@EHIEN0 @6rE 208eMUB AlKOBAI]B.
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